First, Additional angque

Assessment Term 2

Grade 3

Nome GhCI Sur‘nqme:

Date:

MEMO

Content, Mark
. Listening and speaking 20
2. Phoniics 20
3. Reading 20
L. Writing 60

Totadl

120




Listening
FTE TREE
Activitﬂ | ﬂ:ﬁTTﬂj °°S

Listen to the stor‘H of the three little s B
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EXCI mP|e O'F c],uestions:

. How many pigs were in the story? Three

2. What did the first pig use to build its house? Straw

3. What did the second pig use to build its house? Sticks

4. What did the third pig use to build its house? Bricks

5. Which house do you think is the strongest and why? Bricks.
Learners own reason.

6. Could the wolf blow the brick house down? No

1. How did the wolf' try to get into the brick house? He tried
to climb through the chimney.

8. What, did the PiSS Put under the chimneﬂ? TheH made a fire

and Put a Pot of water over the fire.
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Listening
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Activit3 2

Look at the Pictures of the three little PiSS and decide in which

order theﬂ must be P|qced. Cut them out and qute them in the

correct. order on the next page.

Colour the Pictur‘es in.

The three little PiSS
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Answers literal q,uestions about a stor‘ﬂ or non-fliction text.(:

Read the stor‘3 and answer the clluestions.

Reacling
Activit3 |

Lif'e cgc|es of animals

Animadls have life CHCleS. A Fr‘og begins as an eqgq. When the eqg
hatches, it turns into a tqclpo|e. The tcdpo|es grow |egs and
arms, and eventuq"3 grow into adult Fr‘ogs. The adult Fr‘ogs |c13

eggs, so that new T rogs can ive even af ter the f rog grows

old and dies.

A clog's ife 030|e is a little dif ferent than a 'Fr‘og's, because a
dog does not start out as an eqg. It is born from its mother's
be”H. The PYPPY keeps on growing and is eventuq"H an adult dog.
Then the adult clog might have PuPPies to continue the life

CHCle!

Insects like cqtePPi||cPs go thr‘ough ife 030|es too. therpi||qrs
begin as eggs. When theﬂ hatch, theﬂ are larva. The ccterpi"cw
becomes a PUpa, and inside of the pupa it turns into an adult.
The adult is not a ccterpi||cr; it is a butterf lH! Then the
butterf |3 |GHS eggs, so that new ccterpi"cr‘s and butterflies
can live even af ter the butterf lﬂ grows old and dies.




|. Wlﬁdt does a 'Fr‘og begin GS? ESS (l)

2. What does a 'Fr‘og‘s eqg turn into? quPo|e (1)

3. A clog is born from its mother's be"B. (1)

L. What is a dog‘s boba called? PUPPH (1)

5. ComP|ete the life 030|e of a butterf |3. (2)

eqg —  |orvg —— pupa — butterf |3

6. True or false. (£)

a. Animals do not have life CHCleS. False ()
b. A clogls ife c3c|e start as a PYPPY:- True (I)
c. Ccter‘Pi"cr‘s are not insects. False (I)
d. A butter‘ﬂﬂ turns into a ccter‘Pi”cr‘. False (I)

Total: /10




Phonics
Activitg |

. Colour the Pictur‘es with the same beginning sound. (8+2:A)

sh-, ch-, th- and wh-




2. Colour the correct ending sound. (6)

-ng, 'CI(, 'hl(, 'Sh, -ar

"3

ar

"3

ar

What is the colour of the cat?

Tot.dl Activitﬂ . /IO




Phonics

Activitg 2

2. Listen to the words that your teacher is going to read and

write them down. (6+2=3)

a. leaf’ f. cream
b. spy g. cook
c. toast h. dress

2.2. Match the Pictur‘e with the correct middle sound. (A)




2.3. Colour dll the words that r‘hﬂme with "cr‘ﬂ". (3)

—

'F|3 \ feet ‘ that ’ { Fr‘ﬂ J

‘ this ’ dedl [ shﬂ ] ‘ boat ’

Totdl Activitﬂ 2. /10

Total mark Phonics section

A Activitﬂ | 10

2. Activitﬂ 2 10

Totdl __ 120




Wr‘iting

Langque: Activitﬂ |

. Fill in the correct Present Progressive tense on the lines to
comP|ete the sentences. (5)
a. P|cntin3
b. counting
¢. raining
d. snowing

e. WG"(ihS

2. ComP|ete the sentences 53 using is, am or are. (5)
. am

a
b. are

o
&

o
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5
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3. ComP|ete the sentences bﬂ using hqs or hqve.

. l‘\GVG

a

b. have
l‘\GS
d. have

e. l‘\GS

o




A. Fill in tl‘\is, tl‘\at, these or those. (5)

a.

o o0 U

this
that
these
those
this

Total mark |cn3uc19e cctivitﬂ | Mark
. Present Pr‘ogressive tense 5
2. Fill in is, am or are. 5
3. Fill in has or have. 5
A. Fill in this, that, those or these. 5
Totdl __ /20
Processed mark out of [0 = 20+2 _/I0




Wr‘iting
Langucge: Activitﬂ 2

Fill in either in or on. (£)

a. MH bir‘thclqﬂ is in Ju|t|.

b. We go to church on Sundcﬂ.
c. We P|°3 soccer on Tuesd03.

d. We swim in the summer.

Underline the correct answer. (/J

a. There is/There are one teacher in the class.

b. There is/There are a board in the front of the class.

c. There is/There are four bOHS in the class.
d. There is/There are three desks in the class.

Punctuate the sentence using caPitq| letters and these Punctucltion

marks. (4+2=2)

a. have You seen my new shoes
HaveV you seen My new shoes?

b. ann and nomsa wanted to cry.

AnnV and NomsaV wanted to cry.

Total mark |qn9uc19e activitﬂ 2 Mark
. Fill in either in or on. A
2. Underline the correct answer. A
3. Punctuate the sentences. 2
Totdl __ /10




VAV, avaY

With suPPor‘t, write a simP|e set of instructions.

You have to write a r‘eciPe about: "How to make a Peqnut butter
sandwich". Write how You will make the sandwich on the lines. You

must write a list of stePs.

How to make a Pecnut

butter sandwich
What must you do?
. Spread some margarine on each slice of bread.
2. Spread some peanut. butter on one slice.

3. Put the two slices of bread together‘.

[P Press them together‘ 8ent|3.

5. Cut the sandwich in half.

6. Eat your sandwichl




Rubric — Writing qctivitH |

2

3

A

5

|. Line usqse qncl qucinS - Mang Some Few errors | Uses lines AlWGHS uses
e How well did the errors in errors in using lines cor*r‘ec‘t,|3 lines
learner use his line usage. line usage. correct|3. most, of corr‘ec‘dg.
o . Mang Some Few errors | the time. AlWGHS uses
ertlng lines?
errors in errors in using Uses proper
e How well did the
sPacins. spacing. sPacinS proper spacing.
learner space
corr‘ec’dﬂ. qucing
their let ters most, of
?
and/or words? the time

2. Letter formation- Mang Some Few errors | Most Consistentlg
Did the learner form his errors in errors in in letter letters forms dll
let.ters corre Ct’lﬂ? letter let ter formation. | are letters

ormation. ormation. ew orme correctly.
f i f i F f d tly
Incorrect | Letters letters cor*r*ec‘t,|3.
letter formed are
ormations. | incorrectly. orme
f i i tly | £ d
incor‘r‘ect|3.

3. Reqdqbihta — How equ is qug Some Few errors Ver‘ﬂ /'\|wc13$ easy
it, to read the learners errors in errors in in easy to to read.
han dwr‘itin37 r‘eadobihtﬂ. r‘eadobihtﬂ. recdqbi|it3. read.

A. Neatness - How neat is Dif flicult Not neat|3 Not as Writes /'\|Wa'ds
the learner's to read. done. neat|-;| nectlg. writes
honclwr‘iting? done. neat.|3.

Total: /20




Wr‘iting
Activitﬂ 2

Write a Pcr‘qgr‘oph of’ 6-8 sentences about the Picture.




Rubric — Writing qctivitﬂ 2

2

3

A

5

|. Line usqse qncl qucinS - Mang Some Few errors | Uses lines AlWGHS uses
e How well did the errors in errors in using lines cor*r‘ec‘t,|3 lines
learner use his line usage. line usage. correct|3. most, of corr‘ec‘dg.
o . Mang Some Few errors | the time. AlWGHS uses
ertlng lines?
errors in errors in using Uses proper
e How well did the
sPacins. spacing. sPacinS proper spacing.
learner space
correct|3. qucing
their let ters most, of
?
and/or words? the time

2. Letter formation- Mang Some Few errors | Most Consistentlg
Did the learner form his errors in errors in in letter letters forms dll
let.ters corre Ct’lﬂ? letter let ter formation. | are letters

ormation. ormation. ew orme correctly.
f i f i F f d tly
Incorrect | Letters letters cor*r*ec‘t,|3.
letter formed are
ormations. | incorrectly. orme
f i i tly | £ d
incor‘r‘ect|3.

3. Reqdqbihta — How equ is qug Some Few errors Ver‘ﬂ /'\|wc13$ easy
it, to read the learners errors in errors in in easy to to read.
han dwr‘itin37 r‘eadobihtﬂ. r‘eadobihtﬂ. recdqbi|it3. read.

A. Neatness - How neat is Dif flicult Not neat|3 Not as Writes /'\|Wa'ds
the learner's to read. done. neat|-;| nectlg. writes
honclwr‘iting? done. neat.|3.

Total: /20




